

Risini saistītajā pierakstā! (решите цепочкой)

Решите сначала в тетради, потом введите ответ

$$40 \cdot (39 : 13) = 40 \cdot \quad =$$

$$(42 : 6) \cdot 80 = \quad \cdot 80 =$$

$$6 \cdot (120 - 80) = 6 \cdot \quad =$$

$$(840 - 760) \cdot 9 = \quad \cdot 9 =$$

$$(220 + 410) : 70 \cdot 50 = \quad : 70 \cdot 50 = \quad \cdot 50 =$$

$$(282 + 6 \cdot 3) : 5 = (282 + \quad) : 5 = \quad : 5 =$$

$$(480 + 520) : 10 \cdot 7 = \quad : 10 \cdot 7 = \quad \cdot 7 =$$

$$(360 + 640) : 100 \cdot 0 = \quad : 100 \cdot 0 = \quad \cdot 0 =$$